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QUESTION 1

Your organization performs a restock via a transfer order between inventory organizations, using the following
parameters for processing: Transfer Type: In-transit transfer type Receipt Routing: Standard Transfer Order Required:
Yes During the process, the receiving organization wants to make a change to the transfer order line. After which
fulfillment stage will they no longer be able to change the transfer order?

A. Closed

B. Ship Confirm

C. Awaiting Fulfillment

D. Awaiting Receiving

E. Awaiting Billing

Correct Answer: A

QUESTION 2
Your company is an automobile spares manufacturing organization, which follows a discrete process. It
has its own manufacturing and distribution centers located globally.

It has these business units:

US - USA business unit

CAN - Canadian business unit
UK - UK business unit

MX - Mexican business unit
IND India business unit

SPA -Spain business unit

FRA - France business unit

NL - Netherlands business unit
GER - Germany business unit

These are the inventory organizations that exist in each business unit:
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Inventory Org - business unit

GM (Master Org) - US
US1 (Child Org) - US

Us2 (Child Org) - US

CA1 (Child Org) - CAN
MX1 (Child Org) - MX
IN1 (Child Org) - IND
SP1 (Child Org) - SPA
FR1 (Child Org) - FRA
NL1 (Child Org) - NL

DE1 (Child Org) - GER

Which two statements are true?

A. Items cannot be assigned to inventory organizations across business units.

B. Items organizations are also supported to serve as inventory organizations.

C. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization.

D. Operational Attributes can be controlled only at the Master Level.

E. All inventory organizations do not need to be in the same business unit to assign items.

F. Items defined in the GM organization can be assigned to US1, US2, NL1, and MX1 inventory organizations.

Correct Answer: EF

QUESTION 3

A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs).
While trying to set up Cost Organizations for each of these Legal Entities, you were unable to perform the mandatory
step of assigning the Profit Center Business Unit for one set of eight Inventory Organizations; however, you could do it
for the other set. What is the reason for this?

A. There is no Inventory Validation Organization defined.

B. There is no Business Unit associated with the Legal Entity.

C. The General Ledger is not associated with Business Unit.

D. The Business Unit is hot enabled for Costing.

E. The Legal Entity Setup is incomplete.

Correct Answer: B

QUESTION 4
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Your customer has two warehouses (Inventory organizations) located in two different regions. They have a

consigned agreement in place with the supplier. Your customer requests that whenever consumption

advice is created, it should be created separately for each inventory organization.

What setup is required to achieve this requirement?

A. Set Consumption Advice Summary in Consignment Agreement to "Organization".

B. Set Consumption Advice Summary in Consignment Agreement to "All Organizations".

C. This cannot be achieved because only one common consumption advice is created regardless of other parameters.
D. Set Consumption Advice Summary in Consignment Agreement to "All Organizations with items".

Correct Answer: A

QUESTION 5

Your customer has a complex financial reporting structure. Which three elements should you define first in order to form
a basis for this reporting?

A. Managerial, Operational, and Industry
B. Legal, Autonomy, and Operational

C. Tax, Legal, and Industry

D. Legal, Managerial, and Functional

Correct Answer: D
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